. Explain voltage divider biasing for transistor with
suitable diagram.

U foa 1 weEa ¥ favyamm sE @ iR &
fere. wmemEw

. Explain construction of D-MOSFET.
D-MOSFET ! S{=[1 S99y |

. Describe the comparator circuit with help of
suitable diagram.

Sy fost &t e & At vy S ey |
. Explain Full Adder.

Ui ST 1 TS |

. Describe Operational amplifier as integrator.
AfsparcHes Yadie o GHeheis & ®©9 § gHEEU |

. Explain D/A conversion with help of binary
ladder network.

fgaTeRY STt ! T8 | D/ A SRRl &l G9EET |
. Describe working of Light Emitting Diode (LED).

YehTST ScAS SIS hi hiAfay THET |
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The question paper is divided into two Sections
A and B. Write answers as per the given
instructions. In case of any discrepancy, the
English Version will be final for all purposes.
Check your paper code and paper title before
starting the paper. Calculators are not allowed.
Tg IEA-U ‘31’ IR ‘9’ 1 wvel | fawifea ¥ g
e % FROMER T # S A frd o fae
Ft feafa § oSt ®9 & Af<9 AMT SR 9RE-TS
IE FH W YE G-I FIS d TA-IF 6w Si=
W | hotpereX hi STAEf e T

T-90 Turn Over



Note —

1. G)

(ii)

(iii)

(iv)

v)

Section-A 4%x4=16
(Very Short Answer Type Questions)

Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.

@|Ug—37
(1fa &g 3T uv)
frsl o U9l &% S AU M et SO

TAHER T I, T a9 a1 Afushan 30 =g |
i HIfST) g 99T 4 3% @ B

What is Avalanche Breakdown ?
TS T2 M BT ¥ 2
What is light emitting diode ?

JHTST ScES SIS I Bl ¥ 2

What do you understand by MOSFET ?
MOSFET & &9 &1 §9d § ?

What is the application of power amplifier ?
VIR Warefeh 1 1 SUENT § 2

What is the use of K-map ?

K-fost &1 91 S § 2

MPH-06 / 4 (2) T7-90
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(vi) Draw the symbols of NOR and XOR gates.
NOR @& XOR g’ &% fug s msu |

(vii) What do you understand by decoder ?
fesiet ¥ o9 =1 gwE@ € ?

(viii) Convert decimal number (20);, into binary

number.

~C

TR HEA (20),, 1 fg-smemdt wem § wfafa

HIfST |

Section-B 4x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.

T Us—d
(g I q9)

T - fo=l =T 9l & S SfSw 39 et ST &l
sfererae 200 gt H 9REfH wifSw) g@s 9vd

16 37% T B

. Explain clipping circuit with the help of suitable

example and diagrams.

SR 3STeL0 9 ol & Wiy frew (Fwad) qfuy &
HHATRY |
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